- Infinite Pre-Algebra Name

Order of Operations m lSh/@fS

Evaluate each expression.

1) (30-3)+3 2) (21 -5)+8
9 2
3) 1+7° 4) 5x4-8
50 12
5 8+6x9 6) 3+17x5
62 88
7y 7T+ 12 %11 8) 15+40--20
139 17
N 20+16-15 10) 19-15-3
21 1

1) 9x(3+3)+6

9

12) (9+18-3)+8

3



TV Ewess

13) 946+ (8-2)
10

15) 6+(5+8)x4
58

17) (9x2)+(2+1)
6

19) 7x7-(8-2)
43

21) 4-1+8+8)x5
20

23) 7x9-7-3x%5
41

14) 4(4 +2 + 4)
24

e

16) 6x6~(7+5) 'ijx
2% =
1

18) 2—(4+3-6)
1

200 9-7-6+6
|

22) (10x2) = (1+1)
10

24) 8—1-(18-2)+8
5



Adding, Subtracting, Multiplying and Dividing Integers (A)- Answers

Name: Date: Score:

——— .

Calculate each sum, difference, product or quotient.

(+2) X (~12) = (—24) (-12)+ (+12)= (1) é
(~132) + (=12) = (+11) (—2) X (+10) = (—20) \ /

(+8) + (+7) = (+15) (—6) + (+12) = (+6) . \DQ
(=10) + (=10) = (—20) (+1) X (—10) = (-10)
(+12) - (+5) = (+7) (-12) = (=9) = (-3)
(.—10)+(-6) = (—16) (+11)+(—3) = (+8)
(+8) — (=2) = (+10) (+6) + (+1) = (+7)
(-12) + (+1) = (-11) (~4) —(+2) = (-6)
(+9) X (~12) = (—108) (+3) = (+3) = (0)
(+9) + (+11) = (4+20) (—3) = (=12) = (+9)
(+18) +(-9) = (-2) (1) +(=1) =(~12)
(+11) X (-8) = (—88) , (—11) + (—4) = (—15)
(=7 +(=8) = (~15) () =(=9) = (+5)
(+44) + (+11) =  (+4) (+2) X (=2) = (-4
(=3) X (=9) = (+27) ()= (45) = (+3)
FN+(=9) = (0 | (—=5) X (=6) =(+30)
(+9) X (=2) = (=18) (+11) + (-1D) =  (0)
(+5)+(=8) = (-3) (+5) — (—12) = (+17)
(+9) = (=7) = (+16) (—=6) X (=9) =(+54)
(-1)~(-8) = (+7) (+35) = (+53) = (+7)
(+6) X (~11) = (~66) (=2) + (+11) = (+9)
(—132) + (-11) = (+12) (—11) - (=6) = (-5)
(—10) — (+3) = (-13) (+3) X (=5) = (=15)
(=8 =+ (~1) = (+8) C(—48) = (-12)= (+4) -

(=27) +(=3) = (+9) (+11) = (=7) =(+18)



Adding, Subtracting, Multiplying and Dividing Integers (B) Answers

Name:

. Score:

Calculate each sum, difference, product or quotient.

(+2) - (-8) =(+10)
(=11 + (~7) =(~18)
(—88) + (—11) = (+8)

(+44) = (1) = (-4
(+10) + (+12) = (+22)

(+20) + (-10) = (-2)
- (+10) = (+1) = (+9)

(+8) X (—4) =(-32)

(=)= (-10) = (+4)

(+12) = (=3) =(+15)

(—=50) + (+5) =(~10)
(+9) X (+9) =(+81)
(+7) — (—10) = (+17)
(+7) + (+11) = (+18)
(=8)+(+7) =
(+7) X (=8) =(-56)
(+12) = (+1) =(+11)
(+3) + (=10) = (~7)
(+12) — (+7) =
(—10) X (+2)

(—6) X (—12) = (+72)
(=6) X (=8) = (+48)
(+4) + (-10) = (-6)

(+10) X (=6) = (=60)

(—20)
(~12) = (+5) =(-17)

(=8) = (+6) =(-14)
(~=11) X (+3) =(=33)
(=5) X (+11)'= (-55)

(-11) X (-2) = (+22)

(=5) = (4+9) =(~14)
(+6) X (+11) = (+66)

Q"
=

(-10) X (+8) =(-80)

(-8) X (+2) =(~16)
(+11) = (+11) = (0)
(=9) + (+11) = (+2)
(+4) X (+9) = (+36)
(+3) X (=4) =(-12)

(=14) =+ (+7) = (-2)

(+2) — (=9) = (+11)
(—110) + (+10) = (—11)

(+6) + (—4) = (+2)
(+2) + (46) = (+8)
(+4) + (-12) = (-8)
(+40) + (+8) = (4
(+2) = (+4) = (-2)
(+8) + (-12) = (-4)
(=2) = (+3) = (-5)
(+108)+(—-9) = (—~12)
(=16) ~(+4) = (-4)
(=9 =5 = (-4

+5)



(Calculating Mean, Median, Mode and Range WorksheeD

Q Answers.
/».\ - Rough work

el

@ 86,13, 60,55,61,97,30,98,79,52,18

Mean: 59 Median: 60
- Mode: None - Range: 85

@ 12,36,64,65,82

Mean: 51.8 Median: 64

Mode : None Range: 20
(3 12,5,9,18,22,25,5

Mean: 13.71 Median: 12

Mode: 5 Range: 20

(4) 83,23,24,71,52,62,63

Mean: 54 Median: 62

Mode : None Range: 60
(5) 19,21,29,32,89

Mean: 38 Median: 29

" Mode: None' Range: 70

(&) 41,41,41,44,90

Mean: 51.4 Median: 41

Mode: 41 | Ranage: 49




One-Step Equations -~

Solve each equation.
1) 26=8+v
{18}

3) 15+b=23
{8}

5y m+4=-12
{-16}

7) m—-9=-13
{4}

0 v~15=-27

{~12}

11) ~104 =8
{-13}

13) -6=—
. 18 -

{-108}

Name

{5}

4) ~15+n=-9
{6}

10) n+16=9
{-7}

12) 14b =56
{-4}

14) 10n =40
{4}



v

15) —=2
) 8

116}

17) =15x=0
{0}

19) 21 =-7n
{-3}

21) ~126= 14k
{-9}

23) ~16 + x=—15

{1}

25) ~17=x—15
{-2}

7

{56}

29) -7+m=8
{15}

16} 16z—k~
11

1176}

18) ~17x=-204
{12}

200 Z=_33
4

{-52}

22) ~143=-11x
{13}

26) n—8 =10
{-2}

28) a+11=20
{9}

30) 18 +m =3
{10}



Adding and Subtracting Two Mixed Fractions (A) Answers

Name;: Date: : Score:

10,

Calculate each result.

1 -6 46 16 92 16 76 38

9= —le = —— = = =

5 710 5 10 _ 10 10 10 5
5f+2_1_‘2__§‘_"+i§ 102+11_e~:_. 148 74
6 18 6 18 18 ' 18 18 9

72 _,2_ 107 8 107 40 _ 67
15 3 15 3 15 15 15

5 _ 4 5 _ 37
8

& 8 8

I
I
I
|

Il
it
Il

Il
li
i

Il

10 2 190 o6 190 30 160

—— — —

20 "4 20 4 20 20 20

1l
=] oo

1 4 16 16 64 16 48

— — S——

3 12 3 12 12 12 12

wn
I
|

=
|
I
|
|
|
I
I
]

=4

Lo, L 19 49 38 49 _ 87 _ 29
6 12 6 12 12712 12 4

93+44_48+44 2§+44'_}i‘9__.1_‘l_ --\
5 10 5 10 10 10 ~ 10 — 1 ~

29 . 12 29 41 5
B 18 18

Il
I
If

2+111
3 18

st

C



Post-Tes_t'

Name ' ' ‘ Dafe

Use 3,14 for 1. Round answers to the nearest hundredth if necessary.
1. Acircle is shown. _

M

o

p
Identify each of the following in the figure.
a. The center of the circle

Point N is the center of the circle. : Q

b. A diarhéter of the circle

Line segment M0 is a diameter of the circle.

¢. Three radii of the circie
Line segments NM, NO, and NP are radii of the circle.

2. Consider Circle J.

a. Calculate the diameter of Circle J if the circumference is 100.48 centimeters,

c 10048
d = T 3.14

= 372 centimeters

b. Calculate the circurﬁference of Circle J if the radius is 7 meters.
C =md = m(2ry = (3.14){2)(7) _
= 43.96 meters

© Carnegie Learning, Inc CIRCLES AND RATIO: Post-Test » 1



3. Brianna ran 6 laps around a circular track with diameter of tength 120 feet. How far did

h ? :
she run | WEEL 2

O = md .
DNS 242 §/
€ ~ 3.14(120) = 376.8 | D\

6(376.8) = 2260.8

The circumference of the track is approximately 376.8 feet. Brianna ran 6 laps around
the track, [so she ran a total of approximately 2260.8 fee—t.‘\

. Consider Circle X.

2+ MODULE 1: Thinking Proportionally

a. Calculate the area of Circle X if the diameter is 13 inches.

d 132 .
rE=g= o= 6.5 inches

A=mr?~ (3.14)(6.5%)

f= 132.67 square inches

b. Calculate the diameter of Circle M if the circumference is 379.94 millimeters.

€ = md
c
d ==
T
379.94
d = 3.14

d

2

tz; millimeters ]

. Arround garden has a circumference of 15.7 feet. Calculate the area of the garden.

= nd
157 o
~m—5feet

E R R o

r =~§-=§=2.5feet

2 —
A = mr? =~ (3.14)(2.5%) =|19.63 square feet

© Carnegle Learning, Inc



6. A circle with radius ris inscribed inside a square with a side léngth s.

a. Write an expression for the area of the shaded region.
The area of the shaded region is equal to the area of the square minus the area of

the circle.
[4 = s2- wr?
b. [If s =10 millimeters and r= 5 millimeters, calculate the area of the shaded region.

A= 52— qr? & (10)% - (3.14)(52)
= 21.5square millimeters

7. Arectangle is inscribed in a circle.

a. Calculate the area of the circle.

The length of the diameter is 17 inches, so the length of a radius of the circle is 8.5
inches. |
A = nr®

A ~ 3.14(85)2 = 226.87

The area of the circle is approximately_—‘z 26.87 square inchfﬂ

© Camegle Leaming, Inc CIRCLES AND RATIO: Post-Test = 3



b. Calculate the area of the rectangle.
A = bh
A = (15)(8) = 120

The area of the rectangle is[120 square inches.

c. Calculate the area of the shaded region.
22687 — 120 = 106.87 '
Approximately:i106.87 square inches

il

8. The advertised size of a pizza is the length of its diameter.
a. Whatis the area of a 12-inch pizza?

= grp?
The diameter is 12 inches, so the radius is 6 inches.

A ~ 314(6)* = 113.04

The area of the pizza is approximately 13.04 square inches.\ "

b. Ifa 12-inch pizza costs $9.75 and .is cut into 10 slices, what is the cost per slice? '

To determine the cost per slice, | need to -'divide the 'pizza cost by the number of

slices.
9.75 + 10 = (0.975

~ $0.98 per slice

c. What s the cost per square inch?

To determine the cost per square inch, | need to divide the pizza cost by the area of

the pizza.
9.75 + 113.04 = 0.08625

| = $0.09 per square inch

4 + MODULE 1: Thinking Proportionally

© Carnegle Lée;fning,-inc '



9. Darius designed a billboard. The billboard is 480 inches fong by 144 inches high. Darjus
uses a computer to design the billboard. Determine the unknown dimension for the
computer design that maintains the same scale.

12 inches long by x inches high

4sc _ 12
144 %
480x = 1728

x = 36

The unknown dimension is 3.6 inches high.

10. The scale factor used to create a toy from an actual animal is 1: 30. The toy animal is 5
inches talf. How fall is the actual animal?

A scale factor of 1: 30 means the actual animal is 30 times taller than the toy animal.

530 = 150

[The actual animal is 150 inches (or 12.5 feet) tall.

©CarnAegie Learning, Inc r S . CII.R.CL-E-SIXNIS'I%ATI&):-Post—Te‘st « 5



4-Digit by 2¥Digit Division (A) Answers

Name: _ ' Date:

Calculate each quotient.

156 111 121
22)3441 47)5258 66)8001
-22 =47 ~66
124 55 140
-110 -47 -132

141 88 81

-132 =47 -66

9 1 15

555 297 | 168

15)8338 14)4166 34)5745
=75 =28 -34
83 136 234
-75 -126 -204

88 106 305

-75 .98 -272




Simplifying Propér Fractions (A) Answers

Name:

10,

SIS

Simplify each fraction to its lowest terms

D=

gl,_\ wing I INITN U

ol

ol

11,

12,

13.

14,

15,

16

17,

18,

19,

20,

2478

33___, 11

21

22,

23.

24,

AN

26,

27,

28,

29,

340,

9

27

— 0

W

— 9

Q=

Date:

3L

32,

33,

34,

35.

36.

37

28,

39,

44,

ool jaa B o=

INN

~Jfu



3-Digit by 2-Digit Multiplication (J) Answers

Name:

372 135
X 43 X 58
1116 1080

14880 6750
15996 7830

481 983
X 78 X 36
3848 5898

33670 29490
37518 35388

Date:

Calculate each product.

286
X 92

572
25740

26312

821
X 88

6568

65680
72248

525
X 46

3150
21000

24150

968
X 13

2904
9680

12584

Score:

D

508
X 31

508
15240

/20

15748

508
X 74

2032
35560

37592




Adding and Subtracting Two Fractions (A) Answers

Name: ' Date: Score:

Calculate each result.

34 4 34 8 26 13 53
10 5 10 10 = 10 5 5

40 7 33
14 14 14

13 53 _ 39 .53 _ 92 _ 46 1

I
A

6 18 18 18 18 9 9
3 6 6 6 6
, 2.6 _30_6 _
3 18 18 18
o, W_7 _ 28 7T _
4 8 8 8
5 10 10 10
. 7.6 _ 14 6 _
48 8 8
L4 8 49
? 14 ~ 14714




MIXED PRACTICE

End-of-Topic Review.

2 This Mixed Practice worksheet includes two sections; Spaced Review and

4 & O - O

TOPIC 1 TOPIC 2 TOPIC 3

Rigid Motion Dilatiens Line and Angle

3 Transformations Relationships

i

Spaced Review

ﬂ > Practice concepts from previous topics.

@ Determine each sum or difference. @ Rewrite each expression.

@ -14+25 (@ 26+ 4~ 3-5)

+ [ H

E -x+23

® ~15-3 P ®(ad-3)+ (-2+1%)

\ @ Evaluate each express : @ Calculate each product or quotient.

! : -

@ -10.£3(-8)

| -34

T4-12)

@ Caleulate the area of each figure. Plot each point on the coordinate

i 0 15in. plane. Connect the points and identify

. . : the shape.

] 7 in, 7in.

! 5in. 6in. A(70) B (-1, 0}

3 ln.l 3in. -1, 4 D (4, 4)

r 271n, :

{ l ’ 4

186 square inches r1T8

e

i T DI

& 2t NI L\ POV

i1 & i < r

| = em Y C&M veek
1% i Trapezoid

17¢ |
: 230 square centimeters

i Module 1 ¥ Topic1 » Mixed Practice 1
e g E; o R DR e EAR L G R B, !;!-!’?'.ih”.?&l:—w ,A.{o;&‘.r R R A M R -"ﬁﬁsa".’-';‘iu:‘r;):,wi-‘r.v.-:u:-‘ .

© Carnegie Learning, Inc,



- Adding, Subtracting, Multiplying and Dividing Integefs (F) Answers

Name:

Score:

D —

Calculate each sum, difference, product or quotient.

(+11) X (=11) = (=121)
(-1 +(=2) = (-13)
(=3)+ (-11) = (-14)

(=12) + (+6) = (-6)
(+8)—(—3) = (+11)
(+10) X (+2) = (+20)
(+4) + (+10) = (+14)
(+12) + (+10) = (+22)
(—48) = (—4) = (+12)
(+10) + (=9) = (+1)
DX (-8) = (-8)
(-10)—(-10)=  (0)
(+3) X (+9) = (+45)
(+12) X (—=9) = (~108)
(+2)— (+10) = (-8)
(+8) X (=9) = (-72)
(+2) — (-12) = (+14)
(+40) = (+5) = (+8)
(+9) X (=2) = (-18)
(F11) X (~4) = (~44)
(-9)+(+12) = (+3)
(=8)+(=7) = (~15)
(+18)+ (-9) = (-2)
(—12) + (=2) = (+6)

(=9) X (+10) = (-90)

(=36) = (+9) = (~4)
(=5) = (+6) =(-11)
(=9) + (+6) = (~3)
(+21) + (43) = (+7)
(—4)+(=3) = (-7

(+120) + (~12) = (~10)

(+11) X (+6)- = (+66)
(+1) + (+10) = (+11)
(—4) X (+7) =(-28)
(1) —(-4) = (+3)
(=36) + (=3) =(+12)

(—144) + (+12) = (-12)

(+12) + (=2) = (+10)
(+9) - (+9) =
(+96) = (+8) = (+12)
(+1) X (~=11) = (~11)
(-11) +(=7) =(-18)

(—6) X (—4) = (+24)
(—11) X (+3) =(-33)
(—8) X (+2) =(-16)
(+66) + (+11) = (+6)

=7 =(-9) = (+2)
(—=3) x (—~10) = (+30)
(+7) X (+7) = (+49)
(+7) + (+11) = (+18)

2\



TOPIC 3 PROPORTIONAL RELATIONSHIPS

STANDARDIZED TEST

Name

Date

@ Your restaurant bill Is $72.34. You want to
leave about a 20% tip. Which is the best
estimate of a 20% tip?

a. $14.00
*b. $14.40
c. $14.60

d. $1470

) Mrs. Jones sells houses. She gets a

5% commission on all sales. How much
commission would she earn on a house
that sells for $200,0007

a. $5000
Yb. $10,000
¢. $50,000

d. $100,000

@ Carnegle Learning, Inc.

@ The $199.99 digital camera Anne purchased
was on sale for 15% off. What amount did
Anne get off the price?

a. $15
b. $20
e $30

d. $40

g A company spends 13% of its monthly
budget on rent, which totals $2600. Which
proportion can be used to calculate the
company’s total monthly budget?

4, 100 _ 2600
X T3
b, X 13
* 100 ~ 2800
A3 x
¢ 156 ~ 2600
13 _ 2600
*d. 755 =%

Proportional Relationships ¥ Standardized Test



@ A computer is normally $550 but is @ A store is having a sale with a 25% discount

discounted to $385. What percent of on all merchandise. Which equation
the original price does Mark pay? represents the relationship between the
‘ _ regular cost of merchandise () and the
a. 16.5% : discount received (d)?
b. 30% %a. d=0.25
c. 65% b, r=025d¢
*d. 70% . . d=25r
d, r=25d

At Outdoor Adventures Clothing Company;, } A sporting goods store displays the

all items are marked up to maximize profit. following sale sign. What is the constant
Life preservers cost $23 to buy from the of proportionality?

manufacturer, They sell for $35. What is the
percent increase on life preservers, to the
nearest whole percent?

a, 12%
b. 34%
. 52% : 025
a., L.
d. 66% ,
b. 033
*c. 075

2 Preportional Relationships » Standardized Test © Carnegle Learning, Inc.



@ One year ago, Ken bought a mountain bike ’EO Luke bought a pair of jeans originaliy priced

for $460. His bike has depreciated '_since he at $69.00. The jeans have been marked
bought it. It is now worth $320. What down 25%, and a sign posted on the rack
percent did the value of Ken'’s bike where he found them says, "10% additional
depreciate over the past year, to the discount given at register.” Which calculation
nearest whole percent? will give the price that Luke will pay for the
' jeans, not including sales tax?
Yra. 30% 7
a. 69(0.35)
b, 44%
b. (0.65)
¢ 70% |
e, 69(0.75)(0.90)
d. 140%

d. 69(0.25)(0.10)

¥ An office supply store carries an all-in-one @ A set of wireless headphones is regularly

printer with a regular price of $240. The priced at $220.00. Akiko purchases them at
printer is on sale at 15% off. In addition, the 25% off of the regular price. How much does
store is offering a $20 mail-in rebate. How Akiko pay?
much will it cost a customer to purchase this
printer, including 5% sales tax on the in-store a. $214.50
purchase price?
b. $195.00
Ya. $194.20
e, $165.00
b. $232.00
d. $55.00
c. $193.20

b

@ Carnegle Learning, Inc, Proportional Relafionships > Standardized Test



® The Ricci family’s restaurant bill is $124.00,
If they tip their server 20% of the bill, how
much is thelr total bill with the tip included?

*a. $148.80
h. $144.00
c. $142.60

d. $126.48

4 Proportional Relationships » Standardized Test

&) Miguel buys a laptop priced at $649.99 in

one of the four states shown in the table.
With tax, the total comes to $695.49. In
which state does Miguel buy the laptop?

California 7.25

Minnesota 6.88

New Jersey - 6.63

Tennessee 7.00
a. California.

b. Minnesota
¢. New Jersey

*d. Tennessee

© Carnegie Learning, Inc.



€D Karen deposits $375 into a savings account

& An $80 item is reduced to $60, then marked

back up to $80. Which statement describes that earns simple interest at a rate of 4% per
the percent increase and percent decrease? year. She wants to use the interest to buy a

| | new camera. Which amount could Karen
a. The percentincrease is equal to the spend on a camera at the end of five years?

percent decrease. Select all that apply.

b. The percent increase Is less than the a. $764
percent decrease.
*b. $5‘2
fre. The percentincrease Is greater than the

percent decrease. *¢, $38

d. The percent increase is 20%. *d. $75
e. $320

f. $249

18 The sales tax rate in Connecticut is 6.35%.

€ Clay has $60.00. He wants to leave a 20%

tip on his restaurant bill. On which bill total Megan wants to buy a jacket with a $45.00
could Clay leave a 20% tip? Select all price tag. She has a gift card to the store she
that apply. ~ wants to use. What amount needs to be on
the gift card for Megan to be able to buy the
Yra. $48.53 ' jacket using only the gift card? Select all
that apply.
Yb. $4975
a. $2.86
c. $54.99 |
- *b. $47.86 _
d. $61.60 | ( |
c. $45.00 ,
e. $58.80 ‘ \
d. $4770 /
*f $50.00 - /
e. $35.29 /
- Yt $48.25

© Carnegle Learning, Inc. " Proportional Relationships  Standardized Test 5



19 Which of the following show a percent
increase greater than 50%7 Select all

that apply.

a. A jacket that costs $18 is sold to the
customer for $25.

b. A hat that costs $8is sold to the
customer for $12.

¥*c¢. A pair of shoes that costs $20 is sold to
the customer for $35.

#d. A shirt that costs $12 is sold to the
customer for $20.

* Proportional Relationships ¥ Standardizad Test

) Conslider the circles shown. Circle A has a

radius of 6 inches. Circle B has a radius 20%

greater than Circle A.

Which area is greater than or equal to the
area of Circle B? Select all that apply.

¥a. 189.31square inches
h. 51,84 square inches
¢. 113.04 square inches
*d. 162.78 sqtﬁare inches
“#e. 20315 square inches

f. 148.49 square inches

| ©Carnegietearning nc.



Multiplying Fractions (A)

Name:

Date: - Score:

X
W] =

-

I

Calculate each product.

6 3

X
2

5 10 5

Convert T Result - Simplify

I
l

X

l
Al

l
Il




3-Digit by 2-Digit Multiplication (A) Answers

Name:

435 325

X 72 X 54

870 1300
30450 16250
31320 17550

394 977

X 71 X 45
394 4885
27580 39080

43965

27974

Date;

Calculate each product.

804
X 79

7236
56280

63516

256
X 32

512
7680

8192

908
X 47

6356
36320

42676

989
X 55

4945
49450

54395

Score:

——

905
X 80

72400

284
x 81
284
22720
23004

/20



Multiplying Fractions (A) Answers

Date:

Name:

1 5><1
972
. 2xd
975
3 2><3
575
ENE
478
s Lxd
274
6 2X2
573
7 4><1
573
8 5><1
"6 8
o 22
973

N
X
W =

If

il

Il

Il

Calculate each product.

3 ndxdo 2
18 274 7 8
E . 12}.)(2—%
45 3737 9
s SEDE
25 775 7 35
=  lixi= 2
32 375 7 15
1 1 1><4—-i
8 _- 7757 63
i
15 3727 6
4 o il 1
15 | 772 7 14
= | s 2x2 =10
48 773 21
3 19l5><1-i
27 772 7 14
1 202)(2_4
27 577 7 35

Score:

A




Operations with Two Mixed Fractions (A) Answers

Name: Date: Score:

Calculate each result.

1 52+11-42+§—~£+10
8 4 8 4 8 '8
, s 1 _ 4 3 _4 12
8 "2 8 2 8 8

5,,10 40 38 80 38
777147 7 14T 147 14
1,7 1,17 11 10
277100 2710 27717

2 .3 37
. 5-x 1= —
5 57 X g 7

Il

6 So42o =2l 374 31
7714 T 7 14 T 14714

11

sL.,3 1.8 11 18
e I T R M T H M T

I

6 .6 41 20 82 20
7 714 7 14 14 14

. 110){;__24){26_ 624
14775 1475 T 70
1 23 16 368

10. 1—9—><5—= X — =

14773 1473 42




Answers to Volume of Cylinders, Cones and Spheres (ID: 1)

1) 58.7x% yd? 2) 100x yd? 3) 682.7% km? 4) 333.471 mi3
5} 600n cm® 6) 10.7x km? 7} 648n cm? 8) 36m km?®
9) 337 m? 10) 486x cm’® 11) 72n cm? 12) 36n cm®

.
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